Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 340602 Date: 04/12/2015

Subject Name: Surveying - 11

Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q1 (a

Explain principle of Tacheometry, instruments used in tacheometry and 07
characteristics of tacheometer?

(b)
Q2 (9

(b)

(b)

Q3 (@
(b)

Q3 (a

(b)

Q4 (a)

Explain fixed hair, Movable hair and Tangential method of tacheometry.

Draw neat sketch of simple Circular Horizontal curve, label its parts and give
formula for determining length of i) Tangent, ii) Long Chord and iii) Curve.
Give methods of determining constants of tacheometer and explain in detail
the field measurement of determining tachometric constants.

OR

Determine the values of stadia constants from following observations.

Instrument
station

Staff reading
on

Distance (m)

Stadia readings

Lower

Upper

o

P
Q

150
200

1.255
1.0

2.75
3.0

Derive the formula with neat sketch for measuring horizontal distance D and
R.L of staff station when line of sight is inclined and staff is held vertical.
Derive formula for trigonometric leveling when base of the object is
inaccessible and both the instruments are at same level.

OR
The following observations were made in a tacheometric survey.
Inst. Height | Staff | Verticle Staff readings (m)
station | of axis | station | angle
A 1.30 BM -4930

remarks

RL of BM
is 100m

0.905,1.455,2.005

A 1.30 B +790° 0.755,1.655,2.555
B 1.6 C +9%0° 1.5,2.25,3.0
Calculate RL of A,B,and C and Horizontal distance AB and BC. Additive and
multiplying Contants of tacheometer are 0 and 100 resp.
Following readings were taken to find out height of a tower :
Inst st. Readingon | Angle of | Remarks
B.M. (mt) elevation

A 1.45 10°24° RL of B.M. =100 mt
B 2.95 8012’ Dist. AB=50 m

Compute RL of top of tower if station A, st. B & tower are in same
vertical plane & station A is nearer to tower.

Enlist methods employed for setting out Curves; derive formulae for setting
out curve using radial offsets from tangent method.
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Q.5

Q5

(b)

(a)

(b)

(a)
(b)

(a)

(b)

List out various keys on display board of total station you have used
and their basic functions.

Two tangents intersect at chainage 1250 m. The angle of deflection is

OR

30°.Calculre all data necessary for setting out a curve of radius 250m by one

theodolite method (Rankines method). The peg interval is 20m. L.C. of

theodolite is 20”.

Explain how you have used Total station on field.

Explain advantages and disadvantages of total station.
Describe field procedure to plot drawing of your polytechnic campus with

total station.

Write short notes on

a) Transition curve
c) Double sighting method

b) E.D.M

OR

b) Anallatic lens
d) Degree of curve

Explain Precautions to be taken while using total station.
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GusWl | uetell | €59 | BlealluR | €5 URsll ollel
Wel | QB | et | yall lUlells (H)
A 130 |BM [-430° [ 0.9051455 | qei@esell
2.005
UL GL 100m
A 130 |B +7°0° 0.755,1.655
2,555
B 1.6 C +9%’ 15,2.253.0

ARsleHIUet ARl o{lA wRIAA AAASH AclHL AUAAH B,

Blel ABand C ofl W& GUY dUl 3dk AB 3l BC 2l

2sAN2Rell RU/ASL 0w 100 B.
alaRe{l GAlE ucl o{lA wuAA MAA S AclHl HAA B.

GUs2W | dAdRes Blecllur | olled
Wl | GURelL YRl
clulells
A 1.4 107247 | cRosell L. GL =100 mt
B 2.95 +8°12° .
W dR. AB=50 mt
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URA dsa] skl scllell A 2tual. s Guell udlA
U] All gl A5l sclloll I HR Y2 dlRAl
AN dlURA 2l2d R2otall $l Us GuRell yel el Sl ual Aol
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glesHl Grallol 3cll dla s2qll.
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